Name : Serial No:

Chapter 17 Generally accepted accounting principles (2 3% € 3+ /& BY)
17.2 Key assumptions in financial statements (3% % B4 72-4F % 3 8 &3iR)

There are two key assumptions underlying the preparation of financial statements: accrual and going concern. (%% 4734 4 5 &

Ba&NBERBFEETREEF®E)
17.2.1 Accrual concept (1% 4)

Under accrual basis of accounting, revenues and expenses are recognized when they are earned or incurred, regardless of
when the actual cash is received or paid. (#& &34/ € 3* > K Efrp * oS RN 7 2 AR S PR

ad
S

— This is very different from the cash basis of accounting, where revenues and expenses are recognized when the actual cash is
received or paid. (¥R & A# > X ARFHRAFERIE 2 2t §RAFERET)

—  Financial statements prepared on the accrual basis provide more information for users (HEFFEFHRUNHBELTR
B L8EAR -*)

—  Without the use of accrual accounting, only cash transactions are reflected in financial statements. (4v% & ¥ 7 3 #* &34
E3 MBEATSAFBRRERLIA)

— But cash transactions do not give information about other important business activities such as goods purchased and sold on
credit, future rights and obligations. (2 £ L& #|2 it F £ B ey £756 > Gl4oRrplh ~ B4 ~ & FR-henigq)
frEE®2)

— By using the accrual concept, a business can measure what it has to pay and what it expects to receive in future. (& £ * &
PRATVIERNEL HAFFH R NEER)

—  Therefore, the accrual basis of accounting is more commonly used in business than cash-basis accounting. (F]#* » B3+ #| g 3+

WREAHEFRE KT

Classwork 1

1 Define the accrual concept and give an example of the application.
According to the accrual concept, revenues and expenses are recognized when they are earned or incurred,
regardless of when the actual cash is received or paid. For example, an adjustment is made in preparing the
profit and loss account for salaries accrued but not yet paid.

2 A retail store sold goods for $200,000 on credit on 20 March 2010. The amount was not paid until 20 April 2010. Assume the
financial year ended on 31 March 2010.
(a) Discuss how the $200,000 should be recorded under accrual-basis accounting and cash-basis accounting.
Under accrual-basis accounting, the credit sales should be recognised as revenue on 20 March 2010. This would
then be included in the income statement for the year ended 31 March 2010.
Under cash-basis accounting, the credit sales should be recognised as revenue on 20 April 2010. This then be
included in the income statement for the year ended 31 March 2011.

(b) If the store adopts the cash basis, how the net profit of the store would be affected for the year ended 31 March 2010?
The retail store would show a lower net profit for the year.

17.2.2 Going concern concept (#-§ & = 3)
The going concern concept states that a business will continue to operate for the foreseeable future. (¥#F L ¥ =& BX &
FAav Lk k§ b gy)

—  This assumption does not hold if management intends or needs to liquidate the entity or significantly reduce its scale of

operations. (4r% FRAF AL FEBF L EFHFHF L LY AN FL S 2 RAI L)
When the going concern assumption is appropriate (3§ 25 5 ¥ B&K i * /F)

If a business is a going concern, assets that are acquired, for use within the business should be valued on the basis of
historical cost (4% & ##{»—ﬁ&-?i'*“% B p AT RATARREL P AR

— Under the going concern concept, it is assumed that the entity will continue in business long enough to use its assets for their
intended purposes and recover the cost of those assets. (R #F EF A HBEX » ¥R -2 8¢ T3> 3 2 b
FREFRIFYP P PR FTAL Ry T A DS A)

—  Therefore, the current market value of an asset may not be relevant for decision-making. ( ¥]#* » "é_ HIL T if‘l} R S

EEFLRBE LY AN TIR)

When the going concern assumption is not appropriate (3§ 5 5¥ B®&K % if * )

— When an entity is going to be liquidated, its assets will be disposed of in the near future to pay off its liabilities. (4 & ¥ & %2
FE T REH R AR TR KR

— Then current fair value (market value) should be used to value the assets. ( fi& & HRT ¢ ¥ REBERFIN .F [Tl =;F

¥ Q220 BN



Classwork 2

1 Explain the importance of the going concern assumption in the preparation of financial statements.
If a business is a going concern, assets that are acquired for use within the business rather than for resale should
be valued on the basis of historical cost. Under the going concern concept, it is assumed that the entity will
continue in business long enough to use its assets for their intended purposes and recover the cost of those
assets. Therefore, the current market value of an asset may not be relevant for decision-making.

2 Define the going concern concepts and give an example of the application.
The enterprise is expected to continue in operational existence for the foreseeable future. Businesses are
assumed to continue for a long period of time.

For example, if a company decides to close its business soon, the value of the assets should be recorded at their
market prices.

17.3 Qualitative characteristics of financial statements (B4 #3-4F % «7f £ $ k)
For financial statements to be useful to users, the information provided must possess four prlnapal qualitative characteristics:
understandability, relevance, reliability and comparability. (¥ # = 7 * R34 > “TRENE AV FER e BLRFTEH
B PRGBS AR T AT )

1 Understandablllty (7 2z )
The information provided in financial statements should be readily understandable by users. (B4 #%3F 4 #73& 8- eni L RiR 8
# -*' EEMa)
— The busmess should ensure that financial statements are prepared in accordance with generally accepted principles and
generate important information that can be easily understood by users. (& ¥ B/ %pifrE £ chp 2 AR 2 REVTR
Pl PR EEER? -"“ ZEBBNERE Y

2 Relevance (#p i %)
Accountlng information must be relevant to the decision-making needs of users. (3 * 3§ 3+ LSRR AR X
KRR M)
— To be relevant, information should be able to help users evaluate past, present or future events, or confirm or correct their
past evaluations. It must also be timely. (#p B 712 & B+ § et it 2 -*"‘I-r Ed R AafeRRFL T H (FFRIEL )
FRE S MDD R (F AR )

3 Reliability (¥ #.1%)

—  Accounting information must be reliable and users can depend on it with confidence. (3 * 7§ PRAS RFEIT R @
’}—“Fji""‘%;;ml i’?;s P‘E_i

—  Information must faithfully represent what it is meant to represent. ( 4, % B dcF F R EF)

4 Comparability (¥ ' 4)

— Accounting information can be compared with similar facts about the same entity over several periods or about another
entity for the same period. (§#*+ R A7 M- ¥4 A RPEHOPFEF R LT - ¥ hER L AR - B
B T 4R

—  Consistent use of accounting policies is important in achieving comparability. (F - g HERRAVCREELLAEER)



17.4 Generally accepted accounting concepts and principles (2 33 ¢ 3124

e )
17.4.1 Business entity concept (£ ¥ B 1% 4)
Meaning (R &)

The business entity concept states that a business is treated as an entity separate from other entities, including its owner(s).
(EEBRMAR N EEBRRL - B2 B> P wd e il (fH402))

—  Only transactions affecting the business should be recorded in the books of the business. (¥ 3 7R B E ¥ H2 52 4 g4
» Hg)

— Theincomes and expenses of the owner(s) should not be treated as those of the business. (% & K 2 ehf2 A 2§ fedr e &
¥k p p)

Applications (&% )

— The entity concept is applicable to any form of business ownership: a sole proprietorship, a partnership, a small limited
company or a large corporation. (BHFELF * **¥75 £ ¥ BFI > ¢ HBFEF P~ JAUFRTNIrE
®)

Importance (£ & %)

— The entity concept sets the boundary for what should be recorded in the books of an entity. (B ¥ %4 23] 7 Eitie » £ £
& P oenIg P )

— It allows us to measure the financial performance and position of each entity independently. (& 3% % it £ & F B B 8 chpi 7%

3 Rfoi =)

Classwork 3
1 Define the business entity concepts and give an example of the application.

The business entity concept states that a business is treated as an entity separate from other entities, including its

owner(s). Only transactions affecting the business should be recorded in the books of the business. The incomes

and expenses of the owner(s) should not be treated as those of the business.

For example, The personal transactions, assets and liabilities of the owner of a business should not be included in

the business books, unless they are concerned with the owner’s capital contributions or drawings of business

assets.

2. The owner has gained a profit of $6,000 from his private investments. He intends to report the profit in the income statement

of his business. Explain which accounting concept or principle is violated.

The business entity concept is violated. The profit from the owner’s private investments should not be

recorded in the income statement of the business. However, if the $6,000 is put into the business, it

should be recorded as additional capital contribution by the owner.




17.4.2 Historical cost principle (£ g = = R B)
Meaning (. &)

— The historical cost principle states that the assets of a business should be valued at their original cost of purchases or
production rather than market value. (fE{ # * RRIFz N E ¥ T ARR LR S 2 A 23§ > L AA X gUIEND
(7 ARED )5 3§ B

Applications (& * )
— The business entity concept states that a business is treated as an entity separate from other entities, including its owner(s).

(EFBPRMAR N EFABRARL - BR2BH . P2 e Bl (FHAKL))

Importance (£ & %)
— The historical cost principle provides an objective basis for measuring the value of assets. (frg{ # *# RR|#& &1 - BEARF

A B RAR)

Shortcomings (34 2t)

—  The principle may not be useful in some moment (inflation or deflation) for evaluating the present and future financial
performance and position of a business. (5 £ ¥+ FARAL F 2 2 & TR ETRT i § LEARPFHR 0 7
EEPP R GRS 5 AR - B § ARAFF chlFR)

Classwork 4
1. Your company wanted to buy a piece of land for business use. At first, the seller asked for $150 million. He said that this was a

bargain because the land was purchased for $152 million two year ago. But the surveyor you employed appraised the land at
$148.5 million. So you offered $147 million for the land. The seller then made a counter offer of $149 million, and you both
finally agreed on a price of $148 million.

According to the historical cost principle, which value should be reported for the land in your financial statements?

A value of $148 million should be reported in the company’s financial statements, as this was the price

that your company paid for that piece of land.

2 Define the historical cost concept and give an example of the application.
The assets of the business are normally recorded at cost price, which is the basis for valuation of the assets. For
example, a fixed asset is recorded at its original purchase price on the balance sheet even though there is a great
increase in its market value.

3 Explain why in periods of inflation the value of assets will likely be understated while profits will be overstated if assets are
recorded at historical cost.

In periods of inflation, the general price levels of goods and assets rise. The value of assets shown at historical
cost, which is lower than the current price, will be understated. Depreciation charged on assets that are
undervalued will also be understated. As a result, profits will be overstated

4 Explain why in periods of deflation the value of assets will likely be overstated while profits will be understated if assets are
recorded at historical cost.

In periods of deflation, the general price levels of goods and assets fall. The value of assets shown at historical
cost, which is higher than the current price, will be overstated. Depreciation charged on assets that are overvalued
will also be overstated. As a result, profits will be understated

5. The closing inventory had a cost of $12,340 and a market value $20,000. The bookkeeper stated the closing inventory at market
value in the balance sheet. State the accounting principle or concept that has been applied or violated.
The historical cost principle has been violated. The historical cost principle states the assets of an entity
should be recorded at their original cost of purchase or production. Historical cost is considered the most
objective measure of the value of an asset. In the present case, the closing inventory should be stated at
its cost of $12,340.




17.4.3 Prudence concept (& i = #£ 4 )
Meaning (. &)

— The prudence concept requires that caution be used in the exercise of judgements needed when making estimates under
uncertain conditions. (%~ 4 & £ & ¥ 272 FE T NFRT R FTIRIEF > JFHIE ] ¥)
— This is to ensure that assets or revenues are not overstated and that liabilities or expenses are not understated. (14 # & % 3+

EENFAESRE > M2 SFEFSRT)

Appllcatlons (&*)
One of most common applications of the prudence concept is the use of the lower-of-cost- or-market (LCM) method for
inventory valuation. (&% ik F =L ch P - BF LI ZF? S 273 FREZZFEFF)

— Under this method, inventory is valued at cost or market value (i.e., net realizable value), whichever is lower. (455 *
B BRARSRED (TRRER 8 ) e 1% 3+ )

— The other applications included: (# # &% & 3z)
® To make an allowance for doubtful debts (¥ Bk )
® To make an allowance for discounts allowed (373 v 35 & & )
® To make a provision for pensions (¥t & # # )

Importance (£ & |4)
— The prudence concept acts as a safeguard against over-optimism on the part of management. (i = 247 13 F 32

K} 80 BRAF2)

Shortcomlngs (#* BE)
The prudence concept sometimes conflicts with the historical cost principle. (%124 F P L2 FL F 2R A2
)

— Sometimes, the exercise of prudence may be abused, leading to the deliberate understatement of assets or revenue, or the
deliberate overstatement of liabilities or expenses. (&%= iz § s € BEEF 18 €% RPHRFAERE &3

FhFaY

Classwork 5

1. Define the prudence concept and give an example of the application.
The prudence concept requires that caution be used in the exercise of judgements needed when making estimates
under uncertain conditions.
For example, the firm should make an allowance for accounts receivable that are likely to become uncollectible,
even though they are not yet confirmed as bad debts.

2. Some goods were purchased for $6,000 in October 2010. At the year end, these goods remained unsold and could only be
sold for $4,000. According to the prudence concept, which value of the goods should be recorded and what is the accounting
entries.

The goods should be valued at the market value of $4,000, which was lower than the cost. The closing inventory
should be written down by $2,000 as follows:
Dr Profit and loss — Closing inventory $2,000

Cr Inventory account $2,000

3. Along-outstanding debt of $2,000 owed by Kong has been written off as a bad debt, even though his father is expected to die
soon and may leave him a fortune. Which accounting concept has been applied.
The prudence concept has been applied. The debt is long-outstanding and it is not yet certain whether Kong’s
father will leave him enough money to pay off the debt. For the sake of prudence, the debt should be written off
as an expense. It is better to overstate rather than understate expenses. Alternatively, an allowance can be made
for the doubtful debt

4. K Chan says that if he sells the inventory now, he could get $20,000 for it. Yet his accountant has shown it as an asset at its
historical cost of $18,000.

The prudence concept has been applied. The cost of the inventory is lower than its current resale value. For the
sake of prudence, it should be stated at a lower value, i.e., its cost.




17.4.4 Consistency principle (- 7. & )
Meanmg (R &)

The consistency principle states that a firm should keep using the same accounting policy or method for similar items from
periodtoperiod. (- 7 AR & e Fadk? FHE w2 (FEFHARRSL A Z) B TR-EnrT2)

— Achange is allowed only if the existing accounting practice is no longer appropriate. (4= % F {7 mﬁ PREALEF L EF
¥ d e #)

— Any material changes in the accounting policies adopted by a company have to be disclosed in the notes to the financial

statements. (£ ¥ 2 A AL MBFLPREIALBEF Mo Rf-BE - B & ¥ 18 4v)

Applications (& * )

— Various methods can be used to calculate depreciation on non-current assets, including the straight-line method and the
reducing-balance method. (¥ "1 ¢ * & 6% feh 23 B2 d FTAITE » ¢ 3562 M2 fodpifihifi2)

— Once a firm has adopted a depreciation method for a certain type of non-current asset, it should keep using the same method
for that type of noncurrent asset year after year. (- & 2 4% 3 2N BFTAFTE I S 120 BB ? B 3)

Importance (£ & |4)
—  Consistent application of accounting policies and methods helps achieve comparability in the financial statements and
companies would be more difficult to manipulate their financial results by switching to a more favourable accounting method.

(- F g PR RIS 2 A S BT A T s FRE 2P (R AERR T (F P30 k2 FAHBER)

Classwork 6
1. How can the public know if there have been material changes in the accounting policies adopted by a company?

Any material changes in the accounting policies adopted by a company have to be disclosed in the notes to the

financial statements.

2. Explain the consistency principle and illustrate with an example:

The consistency principle states that a firm should keep using the same accounting policy or method for similar

items from period to period. A change is allowed only if the existing accounting practice is no longer appropriate.

Any material changes in the accounting policies adopted by a company have to be disclosed in the notes to the

financial statements.

For example, if the straight-line method has chosen in calculating the depreciation expenses, the same method

should be adopted consistently. Otherwise, the fluctuations in the depreciation expenses may lead to

over-statement or under-statement of the profits.

3. Companies in the same industry use different accounting methods for similar items. Does the consistency principle violate?

This does not violate the consistency principle. Companies have the option of choosing appropriate accounting

methods for themselves.

4. A Company changes its depreciation method from straight-line to reducing-balance in order to lower the reported profit for

the year. Does the consistency principle violate?

This violates the consistency principle. Changing the depreciation method in order to lower the reported profit is not

justified and will lead to a misleading profit figure




17.4.5 Materiality principle (£ & &)

Meanmg (R &)
Materiality refers to the relative importance of an item. (3 & € & £ {#ﬁ RIEP L RN

— Anitem of information is material if its omission or misstatement could influence decisions made by users on the basis of the
financial statements. (40% %7 P e LR M & B P L i -ﬁ B2 o R G LT E £E &)

— The decision as to what is material and what is not depends on judgement. The size and the nature of the business will also
affect the decision. (A2 H A EZ L& &2 £RBGEAT QP A 2P RRFEB/BPT Y §RFTLLR Beidr)

—  For example, unused stationery at the balance sheet date is generally not included in the balance sheet as an asset because
the amount involved is normally too immaterial. (#]4r > k@ * che B - B2 ¢ EAFTAL G4 T3 FT A > FIZ W2 n

SFL¥ L RNELR)

Applications (&% )

— The materially of an item is usually determined by reIating its dollar value to a key figure in the financial statements, such as
sales or total assets. (& |87 5P eh LehE R P> A ¥ BRI F P O N EHMHBE A H Y - 574 R dcF En
B et B R BT R)

Importance (£ &14)
The materiality principle frees accountants from having to compute and report every item in strict accordance with generally
accepted accounting principles. (3 7 £ & £ & B » g*“-gﬁ TREEFTEfomdpiri B B ’rs— + R RY KT SRaE
R

—  Thus it reduces administrative cost. It also reduces the time users spend on reading financial statements. (i&F 2% *% ™ {7 f::?:

*oBERY TR MIBEL L SRR

Shortcomlngs (3 Bt)

There is no standard for materiality. (£ & (%2 3 5 21k %)

— The materiality limit is set by the business itself. Businesses of different sizes and nature will have different standards as to
whatis material. (E ¥ 7 p FH LB Pf - 23 phD PREAERBLT €7 7 k0L & HiRE)

— This may create problems in comparing the financial statements of different businesses whose materiality limits are quite

different. (¥ X § A2 F AV RIF EEF VR R ERET b7 k)

Classwork 7

1. Define the materiality principle and give an example of the application.
Materiality refers to the relative importance of an item. An item of information is material if its omission or
misstatement could influence decisions made by users on the basis of the financial statements.
For example, A firm has bought some stationery that cost $200. As this amount is immaterial, the stationery can
be written off as a sundry expense instead of being capitalised as a non-current asset.

2. Discuss the advantages of applying the materiality principle.
The materiality principle frees accountants from having to compute and report every item in strict accordance with
generally accepted accounting principles. Thus it reduces administrative cost. It also reduces the time users spend
on reading financial statements.

3. W set the materiality limit at $1,000 for her company. Discuss whether the following accounting treatments are correct:
(a) W bought 30 wastebaskets. As each wastebasket cost only $50, she recorded them as general expenses.

Incorrect. The $1,500 (30 x $50) spent on the wastebaskets was a material cost to the business as it exceeded the
materiality limit of $1,000. Therefore, it should be capitalised and treated as a non-current asset.

(b) W bought plastic bags for the wastebaskets. As the bags cost only $200, she did not bother to record them in the books.
Incorrect. All business transactions must be recorded in the books, no matter how small the amount. In this case,
the cost of $200 should be written off as a sundry expense in the current period because this amount would be
considered immaterial.




17.4.6 Realisation principle (5 3 & B|)
Meaning (%, &)

The realization principle states that revenue should be recognized in the period when goods are sold or when services are
rendered. (R AR Fldp &1 » e > B & I F & & & S IRIB PR

— One of the necessary conditions for recognising revenue is that collectibility has to be reasonably assured. (#x 3% éh¥ JT ¥ F&
BRF &2 ehikiE)

Applications (&% )
—  Under the realization principle, three conditions must be met before revenue is recorded: (123 % R B » o4kt » o & S
B E = RiEE)
1 The seller completed a sale or performed a service. (§ * = & ¥} { &2 3% W< JR73)
2 The amount of revenue can be objectively determined. (£ ¥ it Z B L2 F £ 3F)
3 Collectibility is reasonably assured. (3x 38 é7 7 jx ¥ 2R # 5| § B ehikFE)

Importance (£ & |4)
— The realization principle governs the recording of revenues. It affects the determination of profit for a period. (® & B #.*2
TS E  BEREEF AR TEE {E)

Shortcomings (#* BL)

—  The timing and amount of revenue recognition cannot be easily determined. (} ¥ » £ ¥ & AT F PRI EX 3 3 5)

Classwork 8

1. Explain the realisation principle and illustrate the principle with an example.
Revenue for a period is determined by applying the realisaction principle, which required that revenue be
recognized in the period when goods are sold or when services are rendered.
For example, Rental income received in advance for January 2006 on 25 December 2005 is not recognized as
revenue for the year 2005. The rental receipt should only be recognized as revenue in 2006.

2. A magazine publisher receives subscriptions in advance. Each subscription is entitled to 12 monthly issues. Discuss how the
subscription revenue should be recorded in the books of the publisher.
According to the realisation principle, subscriptions should be recognised as revenue when the magazines are
delivered to customers. Any subscriptions received in advance should not be recognised as revenue but be treated
as a current liability in unearned revenue (subscription is for one year).

3. Alaw firm does not record its fee income until that cash is received. This is because the firm often finds it difficult to collect
payments from clients. Discuss whether this way of recognizing revenue is appropriate.
One of the necessary conditions for recognising revenue is that collectibility has to be reasonably assured. If the
law firm often finds it difficult to collect payments from clients, it is appropriate to recognise fee income upon the
receipt of cash.

4. A Chu made a sale as follows:
(i) Received a purchase order on 10 November 2010.
(ii) Took the ordered goods out of the warehouse on 15 November 2010.
(iii) The customers received the goods on 17 November 2010 together with the sales invoice. He was given 30 day’s credit.
(iv) Received a cheque from the customer on 14 December 2010.
(v) Presented the cheque at the bank on 22 December 2010.
According to the realization principle, when should the sales revenue be recorded?
According to the realization principle, the sales revenue should be recognized on 17 November 2010. This was the
date when the goods were delivered and accepted by the customer, the sales amount was ascertained on the sales
invoice and payment would be made within the credit period.




17.4.7 Matching concept (fe 't % £ )
Meanmg (R &)

The matching concept states that a business should identify and record all the expenses incurred in earning the revenues for a
period. This concept goes hand in hand with the realization principle that governs the recognition of revenues. (gz ** #‘JLM:}F
B - BEERZRY RSN FORPIPREARLRAOFR c GRMEERRARR] - 2R * AERic§)

— For a given period, a business would first measure its revenues by the realization principle. The matching concept then
requires the business to identify and record all the expenses incurred in earning those revenues over that period. (£ ¥ § %

FRBRRRAPED P hfcE o REFBRIEAD DX e85 T RBP P RKE A R RSF )

Appllcatlons (B&*)
Some expenses can easily be matched with specific revenues. Examples are the cost of goods sold and sales commissions. (%
B E R M E R TR > Bl | S A et R 4)

— When there is no direct way to link revenues with specific expenses, accountants usually match these expenses with revenues
on a time basis, for example, depreciation expenses. (e k& % * 2§ E R MIcE » § 3 F{ERPFPIRREFE
W BHE o HER

Importance (£ & %)
—  The matching concept governs the recording of expenses. It affects the determination of profit for a period. (fiz }* $#£ 4 3.2 7

PR T c BRMAR- Ho v § HEEE LB P W iR

Shortcomings (#* BL)

— It is not easy to match certain expenses with specific revenues. They are often charged on an arbitrary basis determined by
accountants, which may be considered subjective. (§ & ? TEAFE RN ORERARY c g3 FE YR Al
Went ks R AAERRET G AESAL)

Classwork 9
1. Explain why the cost of goods sold and sales commissions are easily be matched with specific revenues.

Sales commissions are calculated based on the sales volume or revenue. The cost of goods sold is also directly

related to the sales volume or revenue. Thus, both can easily be matched with sales.

2. Discuss whether it is easy to match advertising expenses with specific revenues.

It is not easy to match advertising expenses with specific revenues because there is no direct link between

advertising expenses and sales or other revenues. It is difficult to measure the actual benefit gained from an

advertising campaign.

3. Opening inventory has to be added while the closing inventory has to be deducted in arriving at the cost of goods sold for the
current year. Explain the accounting concept or principle behind this accounting treatment.

The matching concept is behind this accounting treatment. Refer to the text for the definition. Under the matching

concept, the cost of goods is expensed during the period when the goods are sold. Opening inventory is added to

the cost of goods sold as these goods are assumed to be sold in the current year. Closing inventory has to be

deducted as these goods have not been sold by the year end. These goods are assumed to be sold in the following

year and hence it will be added to the cost of goods sold in that year.

4. The value of some goods purchased for $7,850 in the year-end inventory decreased. But the firm’s accountant decided to
ignore the current saleable value and maintained the book value of the goods at $7,850 in the inventory account. List the
accounting concept or principle that has been violated and give your explanation:

Matching

The matching concept states that a business should identify and record all the expenses incurred in earning the

revenues for a period.

For example, the cost of a non-current asset will not be wholly charged as an expense in the year of acquisition. It

will be written off as depreciation in the profit and loss account over the years it is in use.




17.4.8 Obijectivity principle (£ B+ R B])
Meaning (R &)

—  The objectivity principle required that accounting information be based on facts and be verifiable. (% B4 B & & § 3+ %
LREANER NI THRER)

— When situations arise that required the exercise of personal judgement, accountants should follow generally accepted
accounting practice without bias. (§ € 3*F#i8 - & FiE * B L H|¥renfFR )E;§ FTRAWEFREATHTF R

Applications (&% )

The sole owner wanted to put one of his buildings into the company. He believed the building was worth $200 million. To confirm
his valuation, the owner hired two professional surveys who appraised the building at $220 million. Which value is more objective
measure?

The surveyors’ appraised value of $220 million is a more objective measure. This is because the surveyor’s

valuation is supported by verifiable facts and is not biased towards a particular group. The company should

therefore record the building at a cost of $220 million.

Importance (£ & |4)
—  Without the objectivity principle, accounting information would be biased and cannot be relied upon by users. (4=% 25 %
BERR §9 G LT §F hL - AT F4 R BRELE LEAR)

Shortcomlngs (3 8k)
The objectivity principle sometimes conflicts with relevance. (7 B » 2@ R P ¢ ZpM LA 2 35 5)

—  For example, historical cost is regarded as an objective measure of the value of assets. However, it is not as relevant as current
market value in evaluating the current and future financial results of a business. (B 3. » fF F AR 2RI ERFT A E

- BEBARE > R AT AER L ERBIA RAMBEG P OET LA 2 RED E)

17.4.9 Timeliness (% B¥{4)
Meaning (&, &)

—  Timeliness means that accounting information should be provided soon after the occurrence of an event. (3 ¥ 3¢ 3+ %

LR FREZmEG FEERAFEFL L h- RERFFPRERL
Appllcatlons (B&*)

According to the SEHK, for annual accounting periods ending on 31 December 2010, the reporting deadline will be shortened
to three months. For half-yearly accounting periods endlng on or after 30 June 2010, the reporting deadline will be shortened
to two months (RFFEIZ I RR > AAF I NI FLEFT ERAR BT BIpIFERER D
2 g pd ﬁfi*"i‘;fgm [ F\I'J%J-E)i'-%% a4)

Importance (£ & %)
—  Financial statements prepared on timely basis provided relevant and useful information for users. (% FF3 % B £ F 5
¢ “*#5.'4’—1‘5 Micy * hit 4

Shortcomlngs (3 2k)
Management needs to strike a balance between timely reporting and the provision of reliable information. (? ELR R I iy
ERARET L L2 FEELE)

— To provide information on timely basis, it is often necessary to report before all aspects of transaction or an event are known
This affects the reliability of the information. (3 7 % 2 BFenf L > £ ¥ 7 & /T 323 8 F B
%47 @ BEEE § B ER LAV A

Classwork 10

1. Give one example showing the conflict between timeliness and reliability.
For example, a firm is involved in a legal case that has not been resolved. If it loses the case, it will have to pay a
very large but uncertain amount of compensation. To provide information on a timely basis, the firm should report
the above information before the case is resolved. However, the probability, timing and amount of payment are
uncertain, thus affecting the reliability of the information. If the firm reports the information once all the facts are
known, reporting will be delayed and the information may be of little use to users.

2. Explain the Timeliness and illustrate each with an example:
Meaning: To be relevant, accounting information must be timely, that is, it should be provided soon after the
occurrence of an event.
Example: According to the listing rules of the SEHK, companies listed on the main board are required to publish
their annual financial results within four months after the end of the financial year. Half-yearly results need to be
published within three months after the end of the period.
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17.4.10 Money measurement (quantifiability) (§ % & & & =% &)
Meanmg (R &)

The money measurement concept states that transactions and events are recorded in monetary terms. (& ¥ #7i& {792 %
foi 2 e @ 4RE R E e i)

— Under this concept only facts which are measurable in monetary term would be included in accounting. A transaction has to
be quantifiable before it can be recorded. (1¥# & B4 »va—~ 7 # FRERPEIR A ERP » 3o il edh- B2
oo 2RpTE)

—  This concept is in fact closely related to the objectivity concept, which states that only those facts which are objective should
be considered during the whole accounting process. (& B4 frE B AR LRt > v iR 5 72 HHERT
LEREEE VA

— Qualitative factors such as the loyalty, skills and experience of staff may be valued by the owner as the assets of a firm.
However, since such items cannot be objectively measured, they should be excluded from the financial statement. (# i £ -
FER WA LIOLPROBEANFER  TIFE-FAPNEEFTAE - EAFZZEFR AR EELAR » # PRI
PiFsdR 4 ¢ #%)

—  Items that cannot be objectively measured in monetary terms should not be recorded. (& ¥ 7 B &% 2 R & =% sy
ERAIEP A IE)

Applications (& * )

— The cost of goods sold can be objectively measured in monetary terms but their quality cannot. The latter information should
not be shown in the accounting books. (f, &2 A A M & A ARG N RECERF ER > LR HhEFA R - Al |
SRR AT g FehE RN R)

Importance (£ £ |4)

— Money is the only factor that is common to all business transactions. Thus, it is the only practical unit of measure that can
produce comparable accounting information. (B % & #rF B £ 2 B pre- 2 chERE > - Flp > v {ra- VU
Ejvrdahgitn LERE )

Shortcomings (#* BL)

— A great deal of important information about a business, such as the quality of its management, staff morale and relationships
with customers and suppliers is not provided in its financial statements. This is because such information cannot be
objectively measured in monetary terms. (% % M3 g £ehE & 3 4 » n’}n]%tr-” 2R m’?-,% Ea »‘—ﬁ—l FLEHET Ao
) Rl A "5‘4 EE T EAMBELY P FIAPERT PRICTIRVERZER L

Classwork 11

1. Define the money measurement concept and give an example of the application.
The money measurement concept provides that accounting is only concerned with those facts that can be
measured in monetary terms with a fair degree of objectivity.
For example, the morale and loyalty of company staff may be one of the significant factors for a company’s
success, but it is almost impossible to put a value on them and they therefore do not appear in the balance sheet.

2. Give one more example showing the conflict between the money measurement concept and relevance.
Qualities that are important to the success of a business but cannot be objectively measured in monetary terms,
such as corporate governance, leadership, corporate culture, etc

3. Mr Chiu is the sole owner of a trading company that specialises in selling clocks. When he looks at the final accounts prepared

by his accountant, he asks the following questions:

(i)  “Why isn’t something charged for my services against the profit. If | had to pay someone to do the duties | perform, |
would pay him at least $20,000 a year. Should that amount be charged as wages in the profit and loss account?”

(ii)  “l have kept our van in perfect condition. Why should we charge something for depreciation?”

(iii) “You have charged me for taking a clock for my personal use. If | did not have it, | might not be able to go to work on time
each day. Surely it should be treated as an expense of the business, right?”

Required:

Explain to Mr Chiu why the final accounts should not be prepared in this way. (10 marks)

(i) Money measurement concept

It is accounting custom NOT to charge anything in a sole trader’s profit and loss account for services rendered

by him/her to his/her business. This is due to the fact that the value of his/her services cannot be objectively

measured in units of money.

(ii) Matching concept

Depreciation is provided to write off the cost of a non-current asset consumed over the period of its life.

(iii) Business entity concept

A business is treated as a separate entity from its owner. The business resources taken out by the owner for

his personal use should thus be treated as drawings.
11




17.4.11 Substance over form (R ¥ £ *+355% R BY)
Meaning (. &)

—  The substance over form principle states that transactions and events should be accounted for and presented in accordance
with their substance and economic reality. (% F € **353% & Rldg M & PRI ZFEHRTIERRR LT3 R
BB Atk o a3 LEF AR

Appllcatlons (B&*)

According to the substance over form principle, the leased asset should be recorded as a non- current asset in the lessee’s
accounting books when entering the finance lease. (1345 % FE£* 8RR > NRFAEFTHNET DT AR EE HL 2%
B el 3 RAEA Sh2in s T A)

— The reason is, although the leased asset is still owned by the lessor from a legal perspective, all the risks and benefits
associated with the ownership of the leased asset have been transferred to the lessee. (F] 3 82835 F A iy 2 24
BRI > RRFT AT BN O R G E C BB T REL L)

— In this case, depreciation has to be charged and the outstanding lease obligations have to be shown by the lessee as a liability

inits balance sheet. (A AHRT » KEAZZ FTAVEFE L aFTALGL sV o FRBAELEENEF)

Importance (£ & %)

—  The substance over form principle helps ensure that financial statements reflect the economic reality of an entity and not the
Iegal form of transactions and events. (R F £ AR5 M Fp i 2 97 F e F EFREARRY > 7 2 225 &
¥ Eei izb \)

Shortcomlngs (#* BE)

Some business transactions are quite complex. (& & % ¥ % % 81 &4 fech)

— To be able to differentiate substance form from, the accountants of an entity and also its auditor need to be vigilant and have
very good inside knowledge of the company’s operations. (& 4 %% % e e R F > £ ¥ L hplibia st SUEYE X ¥
Ko XFEr» AL ENYFER R

—  These conditions are not easily met in reality. This is why so many cases of accounting fraud have occurred as a result of the
failure to apply the principle of substance over form. (e £ R ¢ » FL B RFX 3 F & - BE AR FENUI R
- R IR

Classwork 12

1. Define the substance over form principle and give an example of the application.
The substance over form concept provides that a transaction is accounted for in accordance with the economic
substance of the transaction rather than its strict legal form.
For example, a motor vehicle acquired under a hire purchase agreement is included as a fixed asset even though
the company does not own the motor vehicle according to the strict legal form.

2. What is a finance lease? According to the substance over form principle, how should it be accounted for in the lessee’s books?
A finance lease is a contract that gives the lessee the right to use an asset for a certain period. During the lease
period, the lessee has to make lease payments and bear all the costs involved in the use of the asset. The legal
ownership of the asset is usually transferred to the lessee at the end of the lease term, with or without any
additional payment.

According to the substance over form principle, the leased asset should be recorded as a non-current asset in the
lessee’s accounting books when entering the finance lease. The reason is, although the leased asset is still owned
by the lessor from a legal perspective, all the risks and benefits associated with the ownership of the leased asset
have been transferred to the lessee. In this case, depreciation has to be charged and the outstanding lease
obligations have to be shown by the lessee as a liability in its balance sheet.

3. Company A sold goods costing $100,000 to Company B for $180,000 just prior to its year end date. At the same time, Company
A signed an agreement to repurchase the goods from Company B within one year for $200,000. As a result, Company A
increased its profit/for the year by $800,000. In addition,, its current assets rose by $80,000. Both the profitability and liquidity
of the company seems to have improved as a result. According to the substance over form principle, how should it be
accounted for in the Company A?

In substance, this was a loan from Company B to Company A. The recording of the above transaction as a sale is
not allowed under accounting standards. If Company A recorded the sum of $180,000 as a sale in its books, no one
would know this was actually a loan and the company’s gearing ratio would not be adversely affected.
The transaction should be recorded in the books of Company A as:
Dr Bank $180,000

Cr Company B/ Short-term loans $180,000
The difference between the sale value of $180,000 and the repurchase value of $200,000 represents the interest
charge on the loan (i.e., finance cost).
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Classwork 13
1. Explain what accounting concept or principle has been applied to each of the following accounting treatments in the books of K
Chan, whose accounting year ends on 31 December:

(a)
(b)

()
(d)
(e)
(f)

A smoke alarm costing $250 has been charged as a sundry expense, even though it is expected to be in use for five years.
A long-outstanding debt of $2,000 owed by Kong has been written off as a bad debt, even though his father is expected to
die soon and may leave him a fortune.

K Chan says that if he sells the inventory now, he could get $20,000 for it. Yet his accountant has shown it as an asset at its
historical cost of $18,000.

K Chan wants to abolish the allowance for doubtful debts account so as to increase the net profit for the year. But his
accountant disagrees.

K Chan had sent some goods to an agent on a sale or return basis. As the goods were not sold by the year end, they were
counted in the closing inventory of K Chan.

M Fong operates a shop in Mongkok and her sister, D Fong, also operates a shop selling similar things in Wanchai. The
sisters requested their accountant to combine the accounts of both shops and prepare only one set of financial
statements.

(@) Materiality

The cost of the smoke alarm appears to be insignificant and therefore it should be expensed in the period incurred

instead of being capitalised as a non-current asset.

(b) Prudence

The debt is long-outstanding and it is not yet certain whether Kong’s father will leave him enough money to pay

off the debt.

For the sake of prudence, the debt should be written off as an expense. It is better to overstate rather than

understate expenses. Alternatively, an allowance can be made for the doubtful debt.

(c) Prudence

The cost of the inventory is lower than its current resale value. For the sake of prudence, it should be stated at a

lower value, i.e., its cost.

(d) Consistency

Businesses should keep making an allowance for doubtful debts. It is not reasonable to abolish this policy just to

increase the net profit for the year.

(e) Realisation principle

Under this principle, a sale is recognised when the goods are delivered by the supplier and accepted by the

customer. Once the sale is recognised, the goods belong to the customer. Goods that remained unsold by the year

end and were held by the agent should be counted in K Chan’s closing inventory as they belonged to him.

(f) The business entity concept was violated. The two shops are operated independently and therefore should be

treated as separate entities, even though they are owned by two sisters.

2. P Cheung owns a trading business. The financial year ends on 31 March. In February 2011, he bought office furniture costing
$3,800 with cash taken from the business for his personal use. The cost of the office furniture was then treated as a business
expense in the calculation of net profit for the year ended 31 March 2011, which amounted to $35,600.

(a)
(b)
(c)
(d)

(a)

What accounting concept or principle was violated?

Explain the accounting concept stated in (a)

What must be done by P Cheung’s business in order to comply with the accounting concept or principle stated in (a)?
What will the net profit figure be after corrective actions are taken in (c)?

Business entity concept

(b)

The business entity concept states that a business is treated as an entity separate from other entities,

including its owner(s). Only transactions affecting the business should be recorded in the books of the

business. The incomes and expenses of the owner(s) should not be treated as those of the business.

(c)

The $3,800 expenditure should have been recorded as drawings instead of business expenses. The correcting

entries are as follows:

Dr Drawings $3,800

Cr Business expenses $3,800

(d)

The corrected net profit for the year will be $39,400 (i.e., $35,600 + $3,800).
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